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QUESTION 1

Which action is performed by the CoordPoint agent? 

A. Is registers cluster nodes with coordination disks and coordination point servers. 

B. It monitors only the coordination point server. 

C. It monitors cluster node registrations with coordination point servers and SCSI-3 disks. 

D. It removes offline cluster nodes from the coordination point servers. 

Correct Answer: C 

Reference: https://sort.veritas.com/public/documents/vcs/6.0/aix/productguides/html/vcs_install/ch18s02s03.htm 

 

QUESTION 2

Which command allows an administrator to halt the cluster without affecting any of the running services in an active
Veritas Cluster Server environment? 

A. hastop 

B. hastop -all 

C. hastop -all -force 

D. hastop -all -freeze 

Correct Answer: A 

 

 

QUESTION 3

Refer to the exhibit. 

How many servers are seeded in the GAB port membership? 

GAB status and membership notation 
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A. the GAB port membership has two nodes: 01 and 12 

B. the GAB port membership has three nodes: 0,1, and 12 

C. the GAB port membership has two nodes: 0 and 1 

D. the GAB port membership has four nodes: 0,1,21, and 22 

Correct Answer: C 

 

QUESTION 4

Which requirement must be met to allow two separate Veritas InfoScale clusters to share a common private heartbeat
network switch? 

A. The GAB network IDs must be unique across the clusters. 

B. All node IDs must be unique across the clusters. 

C. The cluster IDs must be unique across the clusters. 

D. All LLT node IDs must be unique across the clusters. 

Correct Answer: D 

Reference: https://www.veritas.com/support/en_US/doc/129683742-129683747-0/uxrt-731_v39378991-129683747 

 

QUESTION 5

Which two meters can the administrator use for the system capacity calculation when the FailOverPolicy of a service
group is set to BiggestAvailable? (Select two.) 

A. Network 

B. Swap 

C. Storage 

D. Semaphores 

E. CPU 
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Correct Answer: BE 

Reference: https://www.veritas.com/content/support/en_US/doc/129673366-129673369-0/uxrt-731_id-
SF1H0165839-129673369 
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